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- HIGHLY ERODIBLE LAND CLASSES o HIGHLY ERODIBLE AHD
1 = HIGHLY ERCDIBLE LAND POTENTIALLY HIGHLY ERODIBLE
2 = POTENTIALLY HIGHLY ERODIBLE LAKD CACULATOR VER 1.1
3 = NOT HIGHLY ERGDIBLE i WIND EROSIION I} KATER ERDSION
C 1 HEL R K T SLOPE- PERCEN SLOPE--LENGTH L&- VALUE HEL
SOIL MAME 7 VUALUE VALUE CLASS VALUE VALUE VALUE HEN. HRX.. WIN. MAX. MEN. MAX. 8T/RK CLASS
hirkRkhk kihirhhhhih & ARA Rhkkk ARAARL AdkAA ARKARR AAXARA AAAAA ARAARA AAkAR hARKAA AAARAA ARARA Akhki AikAA  KARAA
ARMIESBURG 1 140 38ERROR 160 0.28. 5 0 2 oy 400 0.06% 0.304 0.893 3
BLOUNT 1 168 43ERROR 160 0.43 3 ] 1 100 300 0,069 0.1790.349 3
ELOUNT 1 100 48ERROR led  0.43 3 1 4 100 250 0.129  0.577 0.349 2
CHAGRIH 1 100 EE&ERROR 150 0.32 g 1] 2 109 400 0.069 u:§q+_g;z§5ﬁm 3
GLYNKOOD 1 100 48 ERROK 160 0.43 3 3 ] 100 300 6.287 1.717 0.349__ 2
HASKINS 1 160 C6ERRUR ey 0.37 4 1 3 go 200 0.105 0.353 0.541 3
HOUGHTON 1 160 134ERROR lel  0.01 5 0 2 ] 200 6.066 0.24725.000 3
HARTINSVILLE 1 10t B6ERROR 160 0.32 5 1 2 100 250 0125 0.2640.7281 3
MAETINSVILLE 1 100 86ERROR le6 0.32 ) 2 & 50 300 0.163  1.164 0.781 2
HILFORD 1100 S6ERROR leg 0.28 g 0 2 50 400 G.060 0.304 0.B93 3
MONTGOMERY 1 100 86ERROR led 0.28 5 ] 2 50 300 0.060 0.2790.8%93 3
MORLEY 1 100 B6ERROR 10 0.37 3 b 12 ] 200 0.475 2.551 0.405 1
HORLEY 1 100 86ERROR e 0.37 3 12 18 5o 200 1.275  4.856 0.405 1
NAPFANEE 1100 4BERROR 160 0.37 3 @3 100 400 0.069 0.4350.405__ 2
FERAHO 1100 S6ERROR led 0.28 5 (1 2 100 300 0.069 0.279 0.893 3
PITS 1100 CERROR  Ie) 0.37 2§ 70 50 250 0.378 44.890 0.270 1
RAMSON 1 100 S6ERROR led  0.32 4 2 b 160 250 0.201 1.063 0.625 2
5T. CLAIR 1 100 J3ERROR 160 0.37 3 3 8 100 300 0.287 1717 0.405 2
SARANAC 1 100 86ERROR lel 0.28 g ] 2 160 400 §.069 0.304 0.893 3
SHOALS 1100 3SERROR 160 0.37 g 0 2 100 300 0.069 0.279 0676 3
SLOAK 1 100 4BERROR 160 0.28 5 02 100 300 0.069 0.2790.893 3
TICE 1100 3SERROR 160 0.32 S 02 160 400 0.069 0.304 0.781 3
UDORTHEHTS 1100 ERROR 160 0.37 2 0 2 50 250 0.060 0.264 0.270 3
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